101. Where should metacentre of a ship lie, tokeep it m equilibrium?
(A) below its centre of buoyancy
(B) below 1ts centre of gravity

\W above the centre of gravity

(D) above its centre of buoyancy

e®m sLLd sufomauld Gmss Cauar@Courand SssuLSa Bgmas sy @wowb mrGs

Qs Caiam@io?

B)  Sgoal ewusHie &
(B) Wﬁﬁq—mwwﬁgﬂfb@ &

©) iy @wwEHHE G,

D) Vsmeu erwsSnE Coe

102. What is the value of temi)erature co-efﬁcie_nt o_f a ceramic dielectric?
(A) zer(; |
(B) positive
d infinity

(D) negative

S & mer uSlGhT&rnLlu&qﬂs&r Qeuliug Gemagdlen LI eremen?
4) ymlkud

(B) Cmiwenn

©  wpyeiloan

(D) eadioem :
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103. Which of the follov&i_ng is an disinfectant?

(A)  ABT

: \M DDT e
© NPK
D) CFC.

SLPSSHEHTL_GUDHIET ﬁ@ﬂgnﬁaﬂ DB 6TEI?

(4) ABT
(® DDT
(© NPK
(D) CFC

104. -Which of the following statements will be most suitable for KMnO, ?
: . (A) It is a strong écid .
\M. Ttisa powérful oxidisihg agent
5 (C) Itisa powerful reducing agent

(D) Itis a strong base

I £Qé;a;s§m_ arsdlwnsafldy KMnO, -6@ Laau QummESLOTES) 6TEI? 2
(_A)' <151 G uallanio @ Sflew:
B)  =se6 G.‘A‘.IG\S]GG‘)LDU.IITGUT < sedlnCanhp syenf |
| ©) <8 e audlenwiwimer @_@é:a; syt

(D) =g e audlenw @ smyb

1
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105. Which of the following-characters is true about fungi? They are

f heterotrophic plants

(B) chlorophyllus plants
(C) prokaryotic plants

(D) autotrophic énimals

&G Ga;n@é;a;uuLLleuﬁ)@éu Lh@henganuits LUHHl o @TenLo 6Tg|? SieneUseT
(A) @Qﬂ)Ltq.GlJ’l‘l’l.q.ﬁ‘ﬂ‘Lllﬁ]é; HITGU RIS EIT

B) usFsLELW SreuTEsET

©) yCrrsCaflwmigs gnmqrﬂam

D) %LGeru}rjmﬁlé el @ sei

106. The most likely period in which a woman may conceive is
. (A) fron_l 7th to 10 day of menstrual cycle

‘y\ 15 to 19 day of menstrual cycle -
(C) on 14* day of menstrual cycle

(D) at any time in menstrual cycle

Quetreniien &(meyMIBD (TDEGMDL) FenL @Lmd HreT
A) | -Lorrgaaﬁll_,rrulj OTGIES 7.@35@ IOI-QJQJI'II;ITG‘IT

(_B) wrgelmuilelmbg 15 s 19-cug) prar

© 14-G}IJ§| et wrgedlLmuie @mbs)

D) wrgelmuied(HHs &mmggj.pnll&éﬂgjm
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107.

108.

L]

The deficiency of vitamin “A” causes

@)
(B

V

D)

Hair to fall
Dysentery
Night blindness

Weakness

2 Wiliregg el L ifler “A” genpur(®

._ A)
(B) |
©
D)

Which Agricultural type is known as ‘Jhumming’?

@A)
®B)
©)

¥

eThs efeuamu euens ‘Bl erenm SiemPEsTILHADE?

@
®)
©
(D)

@y 2 Sy
mt&gbg;@urrés@

renevgert Grmi

- Ganirey

Humid cultivation
Intensive agriculture
Mixed agriculture

Shifting cultivation

FFUUS SM@GLlg

Selly efleugmuid
seui efleugmud

@LuQuuite sT@LIg
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109. Which of the following is regarded as “Cradle of Civilization”?
(A) Rainfall

(B) Cultural monuments

(C) Religion

\ﬁ River valleys

Yemeumeuameupmier “wrafasden Qsmiqonrs” smgslu@Umeu 6Tg)?
A)  wenpriGumPey '

B) sengsmy ﬁmmmé Senenhi ST

(C) s

D) =yom swbeuafl

110. The state in India which ranks first in fishing is

(A) Assam

M West Bengal

(C) Tamil Nadu

(D) Karnataka

 Bandig AsmPadle apeneflena audléEib @b mHlaid
A) @b
(B) Cups aistd
©)  s9pprG

D) . siErTLSD
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111. Which Eufopean country built the Fort at -Tranqﬁebar in 16207
(&) French '
(B) England

©) Portugal

M Denmark

o5 pCrmuGw B, g,‘l;rréj‘san.bumq.uﬂléa.l 620-yb <y H (B&rff_ml__anu_l sliqwg?
(A)  Ggmene | .

(B) @Iréléﬁmrr‘r_bg;

(C) Cuniéssasd

(D) Quenonis

112. The practice of “Sati” was abolished during the administration of
- (A)  Warren Hastings
(B) Lord Cornwallis

Lord Wellesley

Ml Lord Wl]]lam Bentinck

‘&gl (#LGET&L@L THFD) GUPESLD @mﬁg'_%f_é}&. as&sn,é,é]a‘} @@éaesﬁnﬁl'_‘i._@;
: (A)  eunmgen Ggmmmq.ramu

(f.’.) - &myen mrréS]siv Sy
() @mé;@a)siuéﬁ‘l'lﬁluq

D) efNevadwid Quiasrig i 9y

i
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113. The leader who is considered as the architect of modern India
( Jawaharlal Nehru
(B) Rajaji
(C) Kamarajar

(D) Anne Besant

mpelier @ﬁ;g\mnéﬁlmﬂﬁ)& cTeus a;@g,@u@uc.auﬁ
@)  maevion Cpm

B) gl

(C) smoprgy

D)  emeflQueer

114. To learn Bharathanatyam, Rukmini Devi Arundale was encouraged by whom?

(A)  Doctor Arundale

ﬁ Anna Pavlova

(C) E. Krishna Iyer

(D) Swati Tirunal

urs (r_F,rn'_ungebg,é. s;,rjé)]é; Qarareugn@ mélentl Gzl imemCLene cas@edlsseur wmi?
() T wEsseT ABETCLD

B)  sevenm ureuGameur

©) @ Speyawr gui

D) seurd Hmpren
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115.

116.

1

Who said “Mahatma Gandhiji named Pandit Jawaharlal Nehru as his heir and successor?
We have realised that his judgement”?

(A) - J.B. Kripalni

(B) Purushottamdas Tandon

\M Sardar Patel

(D) M.N. Roy

“aTE STHS saaieLw eurflemsayb @1@55 s@eaFTEayD uay Crmelear Quwenrs gadlerm.

<ib5E safliIy sflLmag) aeny Bb 2 aribgeTGearmd” erem sabluieui wmir?
(A  Cm9. Apureiaf '

B)  UBCayTESDLSTED LTeTL 6

(C)  signi LG

(D) w.pryTG

Which session of the Indian National Congress approved the Gandhi-Irwin pact?

(A) Lahore Session

\M .Karachi Session

(C) Calcutta Session

(D) Bombay Session

@b Caéw sridlyélen erps LIHTH sTHA-QTellar RUUBSS®S ahmIs CaTa g)?
(A)  engam wrer(h .

(B)  sym&s orBTlH

(C) sosssmLIBETH

D) uLbumd wIETE

35 . EO3GT
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117. Who was the Chairman of the Nehru Report committee?

(A)

s

(©)

D)

CR.Das

Pandit Motﬂal Nehru
Muhammed Ali Jinnah

Dr.B.R. Ambedkar

Crm SiMEans 5L|51i-_lq_l_lg]-GhT SEEEUIT WITT?

(A)
B)
©)

D)

C.R. smeiv
uenrig L Cordlemed Cr(m
GDG;LDQJ 2160l gilemmentm

LrsLir. B. R. <oubCugsi

118. Who was the founder of the Indian National Congress?

A)
B)

Sir Syed Ahmed

Dr. Ram Manohar Lohia

. Subhash Chandra Bose

\(f\ Allan Octavian Hume

@pdHu Calw sriidgamen Carpmedsseui wimi?

- (&)
®)
©

)

EO3GT

& NEFWF| D|&GLDG)| -
LrsLir. gmb wlearrst Geomrduwim
suney Sy Cumen

Spear pEGCLeaT aflyd
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119.

120.

e

The institution of Lokayukta was created for the first time by the state of

M Maharashtra.,

Andhra Pradesh
(C) Kerala

(D) Rajasthan '

GCaons S &sm SADOLIHL (PSHEHT PSS gmL@mﬁ)é(gés Qarem® cupbg wrblevd
(A) Lo@nurreiq,t_nrr .

®)  <apSndrGssi

© G&;gerrrr

D) grgevgmen

Who initiated the preamble objectives resolution?

\9/‘ Tavahatlal Noked

B.N. Rau

(©)- K.M. Munshi

(D) B.R. Ambedkar

@&smsmuuﬁlm Corés ﬁrrmrrmg;mg Wi Q&rrswr@ UbSF?
(A) gsugm)nsurra) Cm(m

(Bj : ﬂ.mm‘ r;rrgu

(©) ' Ga.arib.gpdiad

D) 9. <yT c,o.;Lb(s'ug,asfr
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121.  Match the following with

Heads

Committees
(a) Economic Reforms Commission, 1983 1.  Soli Sorabji
(b) Police Act Draft Committee, 2005 2. Ashok Mehta
- (¢) Committee on Panchayat Raj Institutions, 1978 3. R.S. Sarkaria
(di The Corﬁmission on Centre-State Rela._t.ions, 1983 4. L.K.Jha
@ s & ()
@A) 3 1 26 4
‘M 4 1 2 3
© 4 3 2 1
§6D) | 3 4 2
QuITEEEsS
G(PESET HOQETEET :
(a) Qumerrsmy M pes Gep, 1983 b G&ITGS' Cempmig))
(b) sreue L cuenyays @, 2005 2.  =Cans Cuasm
() uEpsETWSE TR J@WULSE G, 1978 3. R.S. srsemflum
d) wsdu - brfle 2 peyser G, 1983 4. LK gr
@, - © ()
A) 3 1 2 4
(B) 4 I 9 3
| © 4 3 2 1
(D) 1 3 4 2
EO3GT 38
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122. Which article grantee constit'ﬁtiona_l safeguard to civil servants?
: (Aj | Article 300 I
\(/ Article 311
(C)  Article 327

(D). Article 326

78 Ll WTaTT&Eh&E Ths 758 rflwaembliy s L0 ungsmiy salsdmng?
(A)  &75g 300 .

B) srge 311

©)  er5s 327

'(D) 87658l 326

1238. Which. one of the following bills must be passed by each house of the Indian Parliament
separately by special majority? ' '

\U/  Constitution Amendment Bill
~ (B) Money Bill

(C) Ordinary Bill

(D) . Private Bill

Epeaumd ahg WEETSTmey UMFmEhamsSe saflssaiurs darar® ubg GUBLUTERT®WL UTSES
; Qumn CeuaTHd ! -

Q) @rfueamoiy §lpss wCargr

B)  uvemr LDG&rrg_,rr . |

(C)  engmyew wCsTHT i '
(D) g;suﬂu;lrrfr m(ﬁérrgrr

i ' 39 . ~ EO3GT
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124. ‘Capital formation’ depends on

@
B)
N2

D)

Investment
Expenditure
Savings

Prices

@mgm U 5HSSD @ SpSTILONS 66k G eug)

(A)
(B)
©)

(D)

LG
Qeavey
Gy

eflenevser

125. Golden Hand Shake is a term used for

&)

(B)

S

D)

“Sis 6 GRUEHD” cTagyD Qand@pmLir GHUABeug

(A)

®)

©)

D)

EO3GT

Goods.and Service Tax (GST)
Automatic Teller Machine

Voluntary Retirement Scheme (VRS)

‘Gratuity

uarr_isar wHpitb Cameuser aiflews
greflwmd ulReurLm @u_l,r_'r@ugmg
flpuy puapdlu Sl os

uefl&Q&renL_anw
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126.  Where is the “Banana National Research Centre” located in India?
(A) New Delhi

(B)  Sholapur

\(f Trichy

(D) - Puttur

aurepLIsHDHssTar “Caflu <L rmiEs ewwib” @‘lﬁgﬁunaﬁl@ GTTRI@ DNEPEHLILIL_(HeTeng)?

@A) g OLdad

B) cgnmngﬁ

© B

D  usant _ \

127. What is mixed .economy?
(A) Legal sector and Private sector-
M . Private sector and Public sector

(C) Administrative sector and Judicial sector

(D)  State sector and Central sector -

sl QUTHETTSTTLD TEmDHTe) 6TETEn?
(A) .&L'_Lg)lang) LHOID ST oo '
B) seflumt geon whmib Qurg S
(© fpreurs gioop oMb BE giawp
D) wrfe gep whpb wiHU gD

& - el ' 41 . EO3GT
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128. - 4.59x1.8+3.6+5.4 Of%—%Z?

A 3.015

B 2705
4{‘26%

(D) None of theée

4.59%1.8+3.6+5.4—¢n 1—1:‘?
9 5

(A) -3.015
B) 2.705
(©C) 2.695

(D) gD @ evenen

129 E&GBDM4NKH2ACZSV3F1JLOQ5PR

What will come in place of question mark in the following sequence?

GDR ~BMNP: D45 2

j MNQ _ ® 4NQ

(©) MO = iy . (D) M4Q

E&GBDM4NKH2ACZSV3F1JLOQ5PR
&Gy 2 eer euflanaudier Gaereils @M 2 erer @16 ereman auy GouaRTHLD?
GDR. BMP D45 ? i

A) MNQ : B) 4NQ
() MKO | D) M4Q
EO3GT ' 42
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130.

131.

Ll

45 x ? = 25% of 900
(A) -16.20

B) 4

45 x ? = 900-6 25 556500

(A)  16.20
B) 4
©: 5
(D) 500

Ravi’s monthly income is Rs. 12,000. He saves Rs. 1,200. The percentage of his expenditure

and savings are respectively
(A)  80% and 20%

85% and 15%

M 90% and 10%

95% and 5%

gedlullen g eumwreand . 12,000. eur Calls@n Qgrens ap. 1,200. euflar Qe Cablly
aflweundlen sgeismadr wpennCu

A)  80% wpmid 20% -
(B)  85% whmb 15% U
(C)  90% wpmid 10%

D)  95% wpmib 5%

43 EO3GT
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132. The value of 999222 x 999 is
: 999

(A) 990809
\(f\ 998996
(cj 998999
(D) 999824

995
999—— x 999 -ai wHL
999 gl

(A) 990809
(B) 998996
(C) 998999
D) 999824

133. The Simple interest on Rs. 68,000 at 16% % per annum for 9 months is Rs.

(A) 8,200 z
(B) 8,300
(C) 8,400

. 68,000-5@ yar® ey 16%% eissded 9 Lnngr‘éjas@é@ safl qul g em.

. DmEE 0.
(A) 8,200
(B) 8,300
(C) 8,400
(D) 8,500

EO3GT 44




- 134. A ribbon is cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the ribbon is 24 m, find
the length of each piece ' : i

(A) 5m9m,10m
\(y'ﬁm,'z;m,mm'
© 8m,4m, 12m

(D) 4m,6m 14m

24 5 Berqperer rﬂﬂumaf 329 .7 erenrm allg FHHe GsuL@mrr;{). QeulLiul L gjas'm@.esaﬂeh EG‘ITLb.
erepTenT? . h : . ; -
(A) 51595 108 ;
(B) 615,415 1418

© 8848128

(D) 48,6185 1415

. 135. Compare the ratio 2:3and 4: 7 |

J }.._

® <
© =

(D) None

- 2:3wppd 4 : 7 Esses QUGS

@ >
B <
© = 2

D) ggdoma

i

45 : EO3GT
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136. Two taps can fill a tank in 30 minutes and 40 minutes respectively. Another tap can empty it

in 24 minutes. If the tank is empty and all the three taps are kept open, in how much time .
the tank will be filled? : ¢

M _1 hour

(B) 3 hours
()2 hoﬁrs

(D) 4 hours

@@ Asrgaw Q@ Grruse sallgsaflCu wanGw 30 Bl msar, 40. Bl migafld ,ﬁlquqélgfmg)gj.
wHAprH Gemi S Hrotu OsTyaw 24 ;f;luSh_rE'..la;'erﬂsb &1l Qewwb. sy sralwuns Qmbs!
Quepery Grusaile @Gr sowsded Hopg elLlilimd s0dstiy assmear Hllmsefld

By b?

(A) l.mlafaﬂ
B) 3 weflsdr
© 2 wafsd

D) 4 veafsdr

-137. The diagonal of a cube is 44/3 m. Find the volume

\(M 64 m?

(B) 48 m?
© 12m?
D) 4.92m?

(1 SFSHITHS e epenaeiiL_L b 443 B it erefled DIFGHT HEU D|CT6L| GTEITGHT?

(A) 64 53
B) 4883
(C)_ 12 53
D) 4.92.53
EO3GT . e =



138. Ina moht_hly‘ budget of a family, the expenses for Food — Rs. 4,800, House Rent — Rs. 2,400,
Clothing — Rs. 1,600, Education — Rs. 800, Saving — Rs. 1,000, Miscellaneous — Rs. 1,400
calculate central angles. : ] '

(A). 143°,73°, 46°,26°, 30°, 42°
\Uf 144°, 72°, 48°, 24°, 30°, 42°
(C) 144°,-70°, 50°, 22°, 32°, 42°

(D) 145°, 69°, 48°, 20°, 34°. 42°

@ GHbuSSHe rg curey Qaaeldled o awre] - ¢m. 4,800, aﬁa_@ QJWI;GD’)EB - . 2,400, 2 en - ¢p. 1,600,
- seedl - . 800, Galiiy - em. 1,000, @sy Ceweysear - ep. 1,400 _Grsuﬂeb, amwws Camenr oerey
sT(H g ' : ' '

(A)  143°, 73°-46°, 26°, 30°, 42°
(B) - 144°, 72°, 48°, 24°, '30°, 42°
(C)  144°, 70°,.50°, 22°, 32°, 42°

(D) 145°, 69°, 48°, 2.0°, 34°, 42°

139. The H.C.F. of 2923 and 3239 is

A 37
®B) 47
© 73

2923 womyb 3239 Qeundler L5.GL.eu.

A) 37
®) 47
(©). 13
@) 79

11

47 - EO3GT
: [Turn over



140. Which district of Tamilnadu is refel_'red.to as the cradle of Eastern Ghats?

(A)  Ariyalur
Thiruvannamalai

M Villupuram

(D). Vellore '

SOPBTL g e eribomeu’ L b ‘BéEs Qs itéd wereuder Qg u.e aar SienpssLILEATDE?
@A) sfug
B) Hmeuanerimome
| © eflguymb

®) Caugrt

141. Which day is observed on the world Meteorological Day?
(A) . February, 21
(B) March, 12

(C) March, 15

\(f ‘March, 23

2 @& aunaflena Hanons DigmsM&EsULIHLD BreT arg?

A)  QGdgeufl 21

(B) g 12
(C) s 15
(D) onE 23

EO3GT 48



142. ‘Insects museum’ opened by the Chief Minister of Tamil Nadu in March 2018 is located in

(A) Chennai

(B). Madurai
(M Coimbatore
(D) Vellore

LOMTE '20 18 -e s0p& @g,d}sucrrrsb HoiHs) mmé;asus;lLLt_ ‘L ESEET DIHESTLSWSD’ emHG6Ter @)L 1D
(A) Qsenenan ‘
B) wg ey

(©) Gsmugpssni

(D) : - Ceugymir

143. Which of the follovﬁng is called as ‘Tree of Life’?

(C) Jack
(D) - Palmyra

Spaa_apmer 2 WITETEGLD LI erar S&sIL(Hiaug eTE?

A) Qsdmear
(B) . wor
(C) ‘uer
D) uvewen
= - _ ¥ 49 | . : EO3GT
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144. The space craft “TESS’ is launched for the explorat;ion of
(A) Start%
\(y‘ Exoplanets
(C)  Natural sate]h'tesl

(D) Life in planéts

‘TESS’ GTE@LD aﬁ]@ﬁ@mgﬂe}z&mm @eunenn saTLHeusn&ns el (Hereng
(A)  mplLessdrruser

(B) - QeuaflsCararser .

©) - @mﬁ)m&; @mmé&@&n@h&&

(D) Csreseid o uirsdr

145. It has been planne.d to lay 8 ways gt;een rﬁad between
: M Salem — Chennai
' B) ' Salem — Madurai
(C) Salem — Coimbatore

(D) Salem — Thanjavur

¥

Tbs @) BETESERESmLGW 8 aulfl LFE®LE ST@® DieéEs HUL LS LUuC (HeTerg)?-

(A)  Gsewbd - Qsemenar
(B) Ggaid — DGl
(C) Goabd - Camuapsgnt

(D) Gsab - seEpasmayi

EO3GT _ i 50
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A : ; .
146. For which of the following The Logo ‘Invaluable treasures of incredible India’ is used?

Tounsm

\y Geographlc Indlcators B ; A

C) Information Technology

(D) Medical field

‘e Ve @iduredar elme wiupn QuTsSsmsda a@ib @Lwrers Searand Spaear
ersgIemmuiled LweTuHSSLUGS DG ?

(A)  sppersg@n
(B) qeﬁluﬁ]ms‘ﬁ HL1g S&HML_Iq-HeT
(©) sseud Agmfle HIL LI

D) imssus gD

147. The ‘Indian Vegetable Research Centre’ is located in

(A) Pune, Maharastra

: \V Varana31 Uttar Pradesh

. (C©) = Bengaluru, Karnataka

(D) Solan, Himachal Pradesh

‘@AW sTLSH 97TES WD’ Si@BFETET @)L 1D
(A)  yem, wanrTEvL g 7ib

B) Gurrljeum;ﬂ. 2 587 9yCseid

© .I @uRISEH®, STHTLSD |

(D) Cemaan, @wrése WrGssid

1
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148. In which of the following places the ‘International Yoga and Naturopathy Centre’ was
set up? ' : ' :

\W Chengalpattu
(B)  Thiruvallur
(C) . Thiruvannamalai

(D)  Villup u}:"am. :

ELpEHERTL Grsueﬁl_g,ﬁsu SUNDBTL_ g 6o ‘scr'rau@g,& Cursr  wHmd Quipes, m@gém WD’
Amieuiuc Gerars? L '

(A)  Qsmsaul @

B) - Smeudreanit

(C) &) (I GUERTERTTLOGH Q)

D)  efpuymo |

149. The person who received Pulitzer price award in music for the album Damn is
(A)  Hank Williams

(B) Duke Ellington

M Kendrick Lamar

(D) Mike Mahara

‘Gr_1ben GTeaTm @éﬁ& OUSHDETE qaﬂtﬁ&r’r ufdlener Quippeuit
) Ganrsciadli oo ‘

(B) L:'%.l.qé's GTe0lmIL_6oT i

(o) Qa;eimﬂ.é; Geoor

D) ews wayT

EO3GT | b2l b i =



- 150. What is the excess pressure inside a soap bubble?

@y =
|

® Tir
. ar
It
' T
D) o

@ Cariiy GWIPufer 2 L Lngdle o arer a{gf,la; 2AWdpHHlen i) eremen?

e =
r
(B) Tir
(G AL
r
T
® I

.15 1. What is the audible range of sound for human ear?
\W 20 — 20,000 Hz :
B) >20000Hz -
©) >I2IO x 10* Hz
(D) <20Hz

wallgaflan srgsaTTS 2 TILED Gaflufer B auamenflen AL ereen?
(A) 20 -20,000 Hz '

(B) > 20,000 Hz

©) >20x10'Hz

D) <20Hz

il

53
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152. Which of the following compounds is called Baking Soda?

(A) Sodium Carbonate

\(ﬂ. Sodium bicarbonate

(C) Potassium Carbonate

(D) Calcium Carbonate S

Epssa CemosHlad Anmrdle iy eremm) a@_a@mgéaﬂu@ﬁmg}?
(A) @am@'m srirLCer_

(B)  Gemgwib oL sTILCETL

@ QU R =i Cent

D) sreodlwibd sriLCe

153. - Which of the following is used as anaesthetic?
| Ay Co, carbo;ldioxide
B) C,H, ethylene
.  cHOl, chloroform

(D) NH,; Ammonia

EpEsETLQUDDID DILIGSDMHBSTE LILET 5Heis) 6T8)?
(A) CO, sflwdle eumuyy |
(B) . C,H, easddan

(C) CHCl; @CemmGrmumiid

(D) NH, suGuorefur
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154. Which of the following characters _df Gnetum brings it close to"Angiosperms?
(A)  Woody habits
.(B)  Anomalous secondary ’growt_ﬁ

M Presence of vessels in xylem

(D) Naked seetis

BU L gdenm e LT 21605 efansienm 2 ent_u (g Cumevuid) sraubisafie &&ﬁﬁ,@] Qm&Hng?
A Loy el .

(B) SMYILOTHTET @ mb euamiss)
(O . Qeueveren 2 enL_w engeld

D) Sops Slews

-155. From the list below choose the binomial of Lotﬁs

M Nelumblum speciosum .

V1ctoma regia

(®)] P1st1a stratiotes .

(D) Nymphaea stellata

- srwenyuflen sreur @) Qgmed Quu_le‘m;r &Gl‘;g Q&n@é;&;uuLt_eumgﬁlaﬂ@;bg Csiey Q&
@)  Boeblub aSelGuman | '
B) MGl ﬁgl@n
(C) LSIéfULq_UJrr GuL_gmig Guim’_eiv

D) pouwr e oGalm

11
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156. Haemophilia is a human disease caused by
(A) Bacterial infection

Fungal infection

M Mutant gene

(D)  Viral infection

afGumSelwr eréndlp Qrés @psd Crmi rgame ghuBEDS?
(A) umslefwmr QzmHo epeid .
®)  ye@sAgmpm aaid

©)  Sei Lrppwd apeid

. D) @eure GsTHm eped

157. The Internatlonal centre for Genetlc Engmeenng and BIO Technology estabhshed by UNO.
It is located at

w New Delhi
(B) Paris
(C) Tokyo

(D) Washington

greuCse ryGuTBludwied LDrj)Q]lh. 9_u_.1.r'r QsmPe mruedwé ewwid UNO-eumed 2 (HEUMSHLILILL-g|.
Qbs ewwid @;@m}ﬁgmm B&JLD 6T 2_6Terng)? 4

@)  ysOLo
B) umflev
©) CLAGUT

D) airdiisen Vi e Bl
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1568.

159. -

"

From which Iﬁountain range ﬁhe_ river Beas rises?
\M Kulu Hills

(_B) Karakoram

(©) Ladhak

(D) Kailash

Quimeid 2m eThg weanewd emfelmbg 2 HusSwurdng ?

A) G wveLsar
B) smGsrrn

©) oums

D) @swray

- Indo-Pakistan water treaty was signed to share the river water of

(A) Ganga Rwer

M Indus River

Brahmaputra River

D) Yamuna River

a@g_%ﬂ);ﬁ]@ prudlrelpsns, ‘QbSHwu-Lrdlevgmen §fr @uuggm’ FHLIL L g)?
| (A) _.5.ré}ema; 20 ..

® thsan

© !ﬂvﬁmusﬁuﬂ 20

@)  wepenr

57
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160. ‘Gersoppa water falls’ is located in the river
(A) Narmada

(B) Cauvery

M Sharavati

(D)  Vaigai

‘QsiGerun BireSpssl abs pHbler 2 drerg?

(A) prwgm
B) - &rCGauf
©) ‘ gnyreud)

D) eeums

161. The leader who started the Self-Respect Movement in Tamilnadu was

\M E.V. Ramaswamy

- C.N. Annadurai .
(C) M. Karunanithi

(D) M.G. Ramachandran

sllpsssle swwflurems Quéssmssd Qsm_mdweuT
(A)  m.Qau. gmoamd
(B) S.erem. as&remr@mu

() . smewTrH S

D) b gmnésnSlyen
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162.

163.

m

The New Education Pohcy was introduced by

\/. Rajiv Gandh1

: '(C)
D)

Indra Gandhi
V.P_. Singh -

Déva Gowda

ydw sereils Qararensamiu SiflpasliuBsSHweurr

@

®)
©
)

predeu &b
QpSyr b
e9.19. &k

Cgeulserm

The first Indian Institute of Technology was set up at

@A)

®)

Kanpur

Bombay

paoraug @b Agmfle HILU SP&b GeumslulL @b

)
B)
(©

D)

ST
umbCu
Qaenenem

Ga;rn;ré;g,r‘r
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164. The literary source which speaks about the association of Agastya with the first two Tamil
sangams is |

(&)

B)

Agattiyam

Tolkappiyam

M Iralyanar Agapporul Urai

Manimekalai

SIBSHLMHEE s Qren () s shsmsCort® Qmbs AaTLiTy UDME samib Fremm

(A)
(B)
(©)
D)

&S WD

G],srra'vasrr.u&]u_u.b

 @epwertit SsLGLITHET 2 iy

wesflGusame

165. The sangam literature whxch glves a vivid picture of the activity of customs officials in
Kavenpoompattmam is

\W Pattinappaalai

(B)
©
i)

Silappadikaram

Pattuppattu

Maduraikkénji

&mCGeufl BmULq_mg,gm SRIGFETCUIG. aq,@srrrﬂamﬁm umﬂsm updlu elfleurer seeue aaﬂ.s@',m SThI&

Qeoadlubd

@A) Ul ig @) UTena

(B) Aeviudsmyd

©) usgium @

D) wg@TEsTEGHS
EO3GT

T S LA



- 166,

167

Who divided Bengal in 19057
(A)  Lord Lytton

Lord Minto

w Lord Curzon

(D) Lord Irwin

1905-i> e mm;nmgém,s ARG wit?
(A) GSI]L:_I_G‘TI Ay

B). © BCLr 8y

©) sisar Ay

D  @ieflen Gy

Which movement was started by Sayyid Ahmedkhan?
(A) Swarajya movement

(B) Swadeshi movement

\M Aligarh movement

(D) Kuka movement

MEWIF SSFETETD QFTLRSULLL QUESLD 6rg)?
4)  seurTgw QuEsD

.(B) &Cs& @umm
©) <dsri Quésid

D). G&sTQuasd

61
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168. Who organised a procession against the Simon Commission at Lahore?

A)

Mahatma Gandhi

Muhammed Ali Jinnah

\W Lala Lajapéti Roy

()

aswen sllagemen aTHliTEg) wrafle careugms HLSHweuT wrT?

@)
®)
©)
®)

W&THLOM STHE
WPaL0g) 216l e
rer egud Fmi

8. gyir. me

169. Who was elected as the President of the Madras 'Congress Committee in 1922?

A)

D)

Rajaji

Sathyamoorthy

1922-1b gyer(® wrr Qeananen srmdlyev sl g ulen gamaaurts CoTbOSHESILILLTT?.

A
. B)
©
D)

EO3GT

L ]

pregred
&TOTTER

EV grwsmdl

sSWPTES
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170.

) 1 S48

Ll

Which one of the following is not a feature of Federal government?

(A) Wri.tten Constitution
(B) Independent Judiciary

(C) Bicameral Legislature -

M Single government

em'_l_m'_aﬁ SITFTRIS (PDDESG, T8 FlDUL SibFlldvency?
A) ewsLulL srdlueewiy

B) sspdywrer fHwerpd

(C) rrreweu FLLLOGTDRISET

D) @Han SyFTRSD

What is the time limit to furnish information under Right to Information, Act?

(A)  7days
(B) 10days
(C) 14 days

S&6ue il 2 Meno &L UL sr‘égmm BITL_&(@h&EET S&H6ue cuULpmnkis Ceuemt(HiLb?

(A) 7 prer

(B) 10 pmer
(C) 14 mmer
(D) 30 pmer

63
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172.  Which of the following article is related to the provision of Financial Emergency?

(A)  Article 352

\M Article 360 |

(C) Article 357

(D)  Article 356

&la'gé;é;dm_sumg;ﬁ B8l sbupsLul L Seusr Hleo GrsLeand erhs efllduyer Qsmimy Qamer_g)?

(A) 08352 -
B) <94 360
(C) 94 357
(D) N4 356
173. District J udges are appointed by

f Governor

(B) Chief Minister
(C) President

(D) - Prime Minister

ol L Bdudsemer Hluluug
(A)  pEnpi

B) s st

©) BYwrs smeul

D) Ygswi

EO3GT B



174. Swachh Bharat Abhiyan (Clean India Mission) ends in

(A) 2018
\yf 2019
© 2020
©) 2022

e @'r_is@u_lrr S LD 1plgeuenLuyb 260

A) 2018
(B) 2019
€ 2020
D) 2022

175. Which sector contributes the major share to our National Income?
(A) -~ Agriculture
(B) Industry

\M Service

(D) Mining

e e piog) CoAL aumems QLG LESeow eflédamg?
(A) Caeamemew |
B) Gsmfe
© Gswau

D) &syasAzmfe

EO3GT
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176. Mega Food Park in Tamil Nadu would come up in
(A)  Thanjavur district :
(B) Cuddalore district
\W Thiruvallur district

(D) Nagapattinam district

'G]u@_b o awTe LhiGTeUTeng) S B ige) HlmieuliuL. 2 6mem wmeul L Lb
(A)  sepeTayT |

B) s @i

©) SHmauerent

D) prsluligend

177. When was the Food Corporation of India setup?

J January 14th — 1965

(B)  April 20 — 1950
(C) May 16th — 1948

(D)  Oct 2204 — 1949

QpHw 2 ewre] HP&D rLEUITIDS) L@surré;.sﬁ:uf_t_gj?
A) geeufl 14 — 1965

(B)  auyed 2 - 1950

(C) Guwl6-1948

D) =&Crur22—1949

EO3GT : 66



178. The marks scored by a set of students in a test are 65, 97, 78, 49, 23, 48, 59, 98.
The range for this data is ‘

A 90
N A
G T4

D) 73

wrewmeufser Ggrelle eummidlw wHuGuamaer 65, 97, 78, 49, 23, 48, 59; 98 erafley aSleurrsetien Sés

A 90
B) 75
(C) 174
@ 73

179. Find the difference between simple interest and compound interest on Rs. 2,400 at 2 years at
5% per annum compounded annually

@A) Bs.1

(B) Rs. 12
N Rs6

D) Rs.3

. 2,400 &@ 5% @ iy isb 2 Hyamhisaieo daLs@h sl () auligsEh safl aulys@b 2 drer

NgHwrsd srewrs

@ @1
B) @ 12
© @6
®) @3
& 6T ' EO3GT
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180. Find the next term in the series : 198, 202, 211, 227, ....

: A 210

B) 212
M\ 252
D) 97

198, 202, 211, 227, .... erénrp QamLfle Si(H58 2 mUMLS STas

@ 210
B) 212
©) 252

o

181. Find the L.C.M. of 48, 108 and 280?

ﬁ 15120

B) 15115
© 15100
D) 15116

48, 108 wimd 2806 B.QLT o —g3 SrawTs

A) 15120
(@) 16115
(©) 15100
D) 15116

BOSGT | | 68
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182.

x- 21

If 4x +5y =83 and g-:E,-then y-x=7?

o

(A) 3
N
o

(D)

11

3x 21
4x+5y =83 wpp —=— eafle y—x=7?
y LHMILD 2y 2261’ @ y-x

4
(B)

©

- D

11

183. How many % are there in 37%?

\y( 300
B) 200

mn

©
(D)

100

500 -

37 % ~éb TSBEMEn % -G56T 0_dTeTen?

Aa)
(B)
©
D)

300
200
100

500

69
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184. The compound in.terest on Rs. 24,000 compounded half yearly for 1% years at the rate of
10% per annum is |
(A) Rs. .3,483
ﬁ Rs. 3,783
(C). " Rs. 3,873
(D) Rs. 3,973

SIOTUTETYDEG @B (PD aully sl Hid wpanpuldled em. 24,000 & .%sﬁn‘r@urshgjé;@' 10% aullg eSgD

1% e Hsafle et &G gl B eutlg

(A) @ 3,483
®) @ 3,783
© 3,873
D) 3,973

185, If A:B=2:3 and B:C=4:5 then C: A is equal to

J 15 8

(B) 6:5
C) 8:5
M) 8:15

A:B=2:3 wpgo B:C=4:5¢afleo C: A =

A) 15:8
B) 6:5
© 8:5
D) 8:15
EO3GT y : 70 -



186.  What number should be added to each one of 6, 14, 18, 38 to make it equality proportionate

187.

"

@ 1
9
©). 3
D) 4

6, 14, 18, 38 crentm @esQ@eu(m CTERTSHEHL 6 6Tih5 eTaRTaenTs Sal_ig.ame) @Gy e9fsTéaTrid HevL_s@b?

Aa. 1
B) 2
<o 3
D) 4

A and B can do a piece of work in 8 days but “A” alone can do it in 12 days. How many days .

would B alone can do the same work
(A 20
.-(B) 23

22

©
M 24

em Caumamu A, B @maumb Csibg 8 srisefler qpguur. A vl @b 12 prisefed saiCw

wpruuri. B wl @b sdCaumaamu asgmen Briseafléd apyumi?

A 20
®B) 23
(©) 22

® 24

7 . " EO3GT
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188. Find the area of a parallelogram whose base is 9 cm and altitude is 5 cm
(A) © 40 cm? : - (B) 50cm?

( 45 cm? (D) 55cm?

@ Qlenanarsdlen g 2 wrd 9 cm, GSHwWrb 5 cm eafle, QamentarsHen urﬂ]uqu cTeimeu?
(A) 40 cm? L e 07 L(B)-50cm?

(C) '~ 45 cm? : _ (D) 55cm?2

189. If the radius of a-circle is increased by 20%, then how much will its area be increased?

Q)  34% i . \9(. 44%

(C) 54% - L (D) 24%

em aLLgdar b 20% sdsfsgoreamed HuCurg bs el shar uull:umm GTeUGUETEY

2ifafEEn?
(A 34% (B) 44%
© 54% ‘ (D) 24%

190. Consider the fbllowing data:

15, 17, 17, 20, 15, 18, 16, 25, 16, 15,'16; 18, 20, 28, 30, 27, 18, 18, 20, 25, 16, 16, 20, 28, 15, 18,
20, 20, 20, 25 find the frequency of 20? :

5 ' - ~(B) 6

(A)
IS | . ®) 4

15, 17, 17, 20, 15, 18, 16, 25, 16, 15, 16, 18, 20, 28, 30, 27, 18, 18, 20, 25, 16, 16, 20, 28, 15, 18,
20, 20, 20, 25 GsrHssuLl_ L araneanfler 20&smar HlapQeua sramrs

@ 5 i - B) 6
© 17 ' _ D) 4
EO3GT - 72 =



191.

192.

Who wrote the book ‘Laid to Rest’?

Manjeet Singh

\f Ashis Ray

© Balweender Sandhu

(D) Anand Sharma

‘Laid to Rest’ erarm ussssms m@@umr’f wii?
@A) wesds A
B)  éev Gy

(O udeSHsT s

D) yess siwon

The first woman lawyer who became the Judge of the supreme court of India is

(A) Rosemary

: (B) Anita Gupta

\f Indu Malhotra

(D)  Preeti Singh

‘BbHwrellen 2 &g B wenm ﬁﬁu@u.ms ugselCuHy psd QuekT mgmgﬂ@r‘r

(A)  GrrevCGuof
(B) 2iaflgT Gugm
(C) @b méﬁ@gprr,%urr

O) ufsd A

73
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193. 1.1 billion year — old bright pink pigment was dlscovered in

M West Africa

(B) East Africa
(C)  South Africa
(D)  Central Africa

1.1 el wr 2ERT(H GUUIGIENL I @m@é]suuq Blpl e (g ssiul L @ .

(A) G uafssr ”
B) duyses qu&]rﬂe's&n

(C) Qe g UGAssT

(D) -LDQQU_I < USfssT

194.  Pick out the correct one in respect of the following statement

The three collectors of the districts who were presented with Green Award for 2017 by the
govt. of Tamil Nadu is

M Thanjavur, Thiruvallur, Villupuram®
(B) Thanjavur, Tiruchi_rapa]]i, Villupuram
-(C) Tiruchirapalli, Villupuram, Madurai
(D)  Villupuram, Madu;ai, Erode :

&Gy Qsr@ssuu’_Berer unsHwsGan® Qs yuBsd sflwrer garan CaibOsHESD.

2017 =y1b ey paTan LG S(HHISET cphdl SRS <7med QaanyeddaiiuL L EPEITD LDTEUL L
L HFsemaeunger

(A)  seEparay, Hmeuaresi, efl(plilyb
B)  seperayt, Ameflyriueref], 6fpiyrd
(9] Q@éﬁgnﬂﬁénaﬂ, efluyTb, gy

(D)  &Aluygw, wger, RIENIC)

.

EO3GT 74



195. The state of India which leads in the production of Cardamom is
(A) Karnataka ‘

(B) Tamil Nadu

gasamu 2 Husduie pearaflaw udlagn @b wrlon
(A) 5frg;rrt.mb
® 509576

. (C) Gsryemd

D) - evevmd

196. The number of gold medals bagged by India in the 21 common wealth games is

@) 16
I 26
© 36
D) 46

21 2geug smnoardeuds Gﬁ]a)aTquTli@Ll Cumiysefleo @bHur Qeuety srsLLsSssEsT

 aamalses
A) 16
B 26
© 36
D) 46
r AN | | 75 EO3GT
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.- 197.  The person who won the National Award for best Teacher for 2017 from Tamil_n.ad'u is

\M R. Sathy

(B) A.Saraswathi
“(C) S.Rani

(D) S. Gomathi

2017 -1b =y erig 61 p@@nﬁﬂy@&&ﬂ@ Gg,éﬂm eflpHlenan Glém;&'rg) ETINY:S cg,&]ﬁ]yr’r
(A) = ﬂﬂ .

- B) ai..&ueiusu‘é,]
© GT.GfD‘ @rmentl

‘(D) eren. Gamnd

~ 198.  What is the rate of GST imposed on tea?

@) 0%

\(f 5%
©  12% i
D) 28%

Csullene 158 eﬂgmuur_@mm 575 LPHID Coaeu cufl (GST) Afsib eramen?

@ 0% 4
® 5%

© 12%

(D) 28%
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© 199. Ganga Vriksharopan Abhiyan is a

\M National Mission for Clean Ganga

(B)  Mission for pollution free India
(C) Water Resources Mahagement plan

(D) National Mission for North-East

smsn AéeCrmuen Swren eremug) Q@

(A) Czpdlw simemns gniew HL b

(B) wrenw @{b@unf;msu 2 (HEUMSEL UL b
(C) B cuar Cuareamrenw S b

D) e -fyss @bdHureinsrer Coslw b

200. The Indian state that has signed é MoU for the first Cow sanctuary, is
(A) Uttarakhand

(B) Madhya Pradesh

\399" Rajasthan

(D) Uttar Pradesh

QpHurelilen pged Lig sgamTreowith Simwés Lfibgamrie @uubsd GupEsrar@erer wmbleown
A osdrsrar .

B)  wpBu GrGsei>

©€) @urgevgmen

D) 2585 9yCssd

Ll
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